EM, ER
TexHn4eckne xapakTepucTUKu

Mo Bonpocam npoaax 1 noaaepxku odpaLlanTech:

Anmartbl (7273)495-231 KasaHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
ApxaHrenbck (8182)63-90-72  KanunuHrpap (4012)72-03-81 HoBocubupck (383)227-86-73 Coum (862)225-72-31
ActpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Owmck (3812)21-46-40 CraBponosb (8652)20-65-13
BapHayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 CypryT (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MMeH3a (8412)22-31-16 Tomck (3822)98-41-53
Bnagueoctok (423)249-28-31  KpacHosipck (391)204-63-61 Mepmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocrtoB-Ha-[loHy (863)308-18-15  TromeHb (3452)66-21-18
Bonoraa (8172)26-41-59 Nvneuk (4742)52-20-81 Ps3aHb (4912)46-61-64 YnbsHoBCK (8422)24-23-59
BopoHex (473)204-51-73 MarHuToropck (3519)55-03-13 Camapa (846)206-03-16 Ydha (347)229-48-12
ExatepuHbypr (343)384-55-89  Mocksa (495)268-04-70 CankT-MeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 Capartos (845)249-38-78 YensbuHck (351)202-03-61
WxeBck (3412)26-03-58 HabepexHble YenHbl (8552)20-53-41  Cesactonons (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395)279-98-46 HwkHuin Hosropog (831)429-08-12 Cumdeponons (3652)67-13-56 fApocnaens (4852)69-52-93

Poccus (495)268-04-70 Kupruans (996)312-96-26-47 KasaxcraH (7172)727-132
cgo@nt-rt.ru || https://gavazzi.nt-rt.ru/



Photoelectrics
Accessories
Reflectors Type EM for Laser Sensors

e High quality micro-cube reflectors for
retro-reflective laser sensors

CARLO GAVAZZI

\4

Type Selection

Size Mounting * Ordering no. Reduction factors
WxHxD on distance
@10.0x 3.8 Adhesive EM 110-40 1,0
10.5x10.5x 3.6 Adhesive EM 111-40 1,0
20.0x32.0x 3.0 2 x M3 screws EM 120-20 1,0
@20.0x5.1 Adhesive EM 121-41 1,0
13.7 x23.0x4.9 2 x M2 screws EM 123-70 1,0
20.0x43.0x 3.6 2 x M3 screws EM 130-20 1,0
*  Mounting material not included
Material: PMMA/ABS
Temperature range: -20 to +60 degree C
Degree of protection: IP69K
Dimensions

EM 110-40 EM 121-41 EM 111-40

1
[

‘S_H

ﬂﬂ

~+H

"
|

10.5

10.5

EM 123-70

EM 120-20

—

4|23 20

EM 130-20

20

30




Photoelectrics
Accessories

Reflectors Type ER

AN

Type Selection

e High quality reflectors for retro-reflective
photoelectric switches
¢ Reflective tape suitable for polarized light
e Heated reflectors for cold storage or freezer installations
¢ All catalogued photoelectrics use ER 4 as reference for
applicable sensing distance

Size Mounting " Ordering no. Reduction factors
WxHxD on distance
51.0x17.5x6.0 Adhesive ER 1 0.20
60.0x41.0x 8.0 2 x M3 screws ER 4060 0.81
80.0x54.0x 8.0 Adhesive ER 5080 0.60
82.0x37.0x5.5 Adhesive ER 8 0.51

186.0 x 46.5x 8.0 2 x M6 screws ER 42182 0.65

100.0 x 100.0 x 9.2 2 x M3 screws ER 100 1.20
84.5x84.5x9.0 2 x M3 screws ER 840 0.96
51.5x61.0x 8.0 2 x M4 screws ER 5060 0.80
23.5x47.5x8.0 2 x M3.5 screws ER 390 0.39
32.5x65.0x 8.0 2 x M3.5 screws ER 483 0.55
19.0x725x8.4 2 x M3.5 screws ER 530 0.45
55.3x126.0x9.0 2 x M6 screws ER 686 0.92
18.5x120.0x 6.5 2 X M4 screws ER 665 0.45
13.0x17.0x 5.0 Adhesive ER 640 0.16

52.0x 119.0x 27.0 4 x M4 screws ER 6812 0.92

@ 35.0x5.5 Adhesive ER 692 0.53

© 84.0x7.4 1 x M4 screw ER 4 1.00

@ 25.0x5.0 Adhesive ER 689 0.39

@ 42.0x6.0 Adhesive ER 420 0.54

@ 42.0x60.0x6.8 2 x M3.5 screws ER 423 0.54

@ 46.0x6.5 Adhesive ER 460 0.55

Reflective tape

25 mm wide x 45.7 meters long (1 roll) ERT 25 0.23 (25 x25 mm)
50 mm wide x 45.7 meters long (1 roll) ERT 50 0.34 (50 x 50 mm)

" Mounting material not included

2 (internal heating)

Reflectors

Material: PMMA/ABS
Temperature range: -20 to +60 degree C
Degree of protection: IP69K

Reflective tape
Material: PMMA (Acrylic)
Temperature range: -20 to +50 degree C



ER

CARLO GAVAZZI

Dimensions

ER 1 ER 5080 ER 42182

8 80 ‘ 186
51 8 150

w0 [RRRRRRRERILLL
: N,
~ VAVAAVAYVAAY.VaAVVaVs
— ETAVATATAVAVAVAVATATAYAYa |-
S » @

54
46.5

ER 4 ER 8
7.4 84

R

5.5

o e e

R IR RRE IR
KRR X KRR XK KX IIRRRKENS
DRI K AT IIIKKAIRRIIKIA
IR K RIKRARAKRARRK]
R R KK IIIIIKHAL
S ATy SO Ar i
et

ORI IKIIKIKIIIAIIHIIR
ORRNRK QKR

BT
QORRNNRRS

ER 100 ER 390 ER 420

92 100

' ',
S ‘ 0 l o
l‘ .i‘ -0‘ .0‘ .0 2ot .O‘ o
gt St e’ e
& u«pawan
pr

(2]

=t ,.» Uttt
l

=
e
o~ R, :-' e
.»‘ .t‘ e .:‘ A e
R :., ;,4 ] 2 475
",‘ S
‘rwrc o

Gt

ER 423 ER 460 ER 483

o
w
)
v

6.5

byt
0."0."b."0."
e,

[3.]
=)
=]
a

ER 530 ER 640 ER 665

o




ER

Dimensions (cont.)

ER 681 ER 686
7,
I

0

0

¢

é Supply: 24 VDC 126

% Power consumption: approx. 8 W
ER 689 ER 692 ER 840

845
5.5
e

ER 4060 ER 5060

60

ERT 25
45.7m
25 mm w
ERT 50

457 m

50 mm

o




Mo Bonpocam npoaax 1 noaaepxku odpaLlanTech:

Anmartbl (7273)495-231 Ka3saHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
ApxaHrenbck (8182)63-90-72  KanunuHrpap (4012)72-03-81 HoBocubupck (383)227-86-73 Coum (862)225-72-31
ActpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Owmck (3812)21-46-40 CraBponosb (8652)20-65-13
BapHayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 CypryT (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepsb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MMeH3a (8412)22-31-16 Tomck (3822)98-41-53
Bnagueoctok (423)249-28-31  KpacHosipck (391)204-63-61 Mepmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocrtoB-Ha-[loHy (863)308-18-15  TromeHb (3452)66-21-18
Bonoraa (8172)26-41-59 Nuneuk (4742)52-20-81 Ps3aHb (4912)46-61-64 YnbsHoBCK (8422)24-23-59
BopoHex (473)204-51-73 MarHuToropck (3519)55-03-13 Camapa (846)206-03-16 Ydha (347)229-48-12
ExatepuHbypr (343)384-55-89  Mocksa (495)268-04-70 CankT-MeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 Capartos (845)249-38-78 YensbuHck (351)202-03-61
WxeBck (3412)26-03-58 HabepexHble YenHbl (8552)20-53-41  Ceactonons (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395)279-98-46 HwkHuin Hosropog (831)429-08-12 Cumdeponons (3652)67-13-56 fApocnaens (4852)69-52-93

Poccus (495)268-04-70 Kupruans (996)312-96-26-47 KasaxcraH (7172)727-132
cgo@nt-rt.ru || https://gavazzi.nt-rt.ru/



